3PNy Jemoqg

| HST / HSF ==

Faugnle

/.

frEE A’ M

FEmiis
2-Jaw, 4-Jaw BT R A, BRI

FERA

B EER 1
T HANE, (RIEFRE, FapiK

EEN5EENXR
HST-06 / HST-08 HST-10 / HST-12 / HSF-08 / HSF-10 / HSF-12
 E—
—— " \
50 nST—08 0 HST=+12 \\liéF—1 2
40 \\ 70 \\\
N\
HST—06 | ———| N ” — HST-10
? 30 \ E 22 HSF=08 — S HSF—10
Q@ o Q S
E ~ E 30 N ~—
2 10 g *
g g 10
2 0 1000 2000 3000 4000 5000 6000 7000 < 0 500 1000 1500 2000 2500 3000 3500 4000 4500 5000
Speed : min™ (r.p.m.) Speed : min™ (r.p.m.)
= B A
HST-06 HST-08 HST-10 HST-12 HSF-08 HSF-10 HSF-12
4 52 Z 91 52 7 o1
ERET]R Max. [mm] 169 210 254 304 210 254 304
EFERR Min. [mm] 15 13 31 34 13 31 34
£MITIR(ER) [mm] 55 74 8.8 106 74 8.8 106
HESTIE [mm] 12 16 19 23 16 19 23
FeFBIER AN (kN (kgf)] 145 (1479) 23.2(2366) 28.5 (2906) 36.7 (3742) 23.2(2366) 28.5 (2906) 36.7 (3742)
VPRI AIERFA [KN(kgf)] 38 (3875) 57.3(5843) 74 (7546) 96 (9789) 57.3(5843) 74 (7546) 96 (9789)
RFHRARAEE [min'] 6000 5000 4200 3300 5000 4200 3300
B [kg] 115 213 335 52 225 345 52
2.21(0.225) 6.47 (0.66) 12.06 (1.23) 27.46 (2.8) 6.67 (0.68) 12.08 (1.24) 27.42(2.8)
SH-13046 SH-15052 SH-18077 SH-15052 SH-18077
(SYH-1246) (SYH-1552) (SYH-1877) SYH-2091 (SYH-1552) (SYH-1877) SYH-2091
1.85(18.9) 1.80 (18.4) 1.80 (18.4) 1.81(18.5) 1.80 (18.4) 1.80(18.4) 1.80 (28.5)
KITAGAWA® Model BT-206 BT-208 BT-210 BT-212 - - -

X RIFBRAFRIATONE S o
¥ RS SHMERIRE R BTN E R ELE &,
¥ =T ENMIITERA Kitagawa f2fit OEM 47~



BILEEE ¢ @46~ @91
FHEE - @15~ @304

g SERRATION PITCH 1.5 W
R Q = v
i R S
(o0 Fﬂ‘ 95° )

s> |

© & @ @{ { 5

gk & 72( /@ \J_/%\ = & < Of > ;E : S 5 ﬁ = 5

olte |t oo r+eall ITALIC
AT TRy vy s
)

~] S k@@ | ﬁ)/@}ﬁ\ 7 E’T |

@& , g /

& HST(2—Jaw) | 5" SF(a-Jaw) </pfle B
X A TRFEERRES, FESRENDEB2R .
FmRT

HST-06 HST-08 HST-10 HST-12 HSF-08 HSF-10 HSF-12
169 210 254 304 210 254 304
[ B | 81 91 100 110 91 100 110
| oc(He) | 140 170 220 220 170 220 220
5 5 5 6 5 5 5
104.8 1334 1714 1714 1334 1714 1714
46 52 77 91 52 77 91
6-M10x95 6-M12x105 6-M16x100 6-M16x110 4-M10x105 4-M12x120 4-M16x130
[ m 20 25 30 30 25 30 30
[ Nmax | 32 387 51 613 387 51 613
[ Nmin. | 2925 35 466 56 35 466 56
2275 30 34 4575 2975 3375 4575
[ omin. | 9.25 15 145 1575 1475 14.25 1575
[ Pmin | 1 15 105 15 15 1 15
[ Pmax | 1 145 85 8 145 85 8
[ o | 31 35 40 49 35 40 49
[ R 12 14 16 21 14 16 21
19 205 25 28 205 25 28
2 2 2 2 2 2 2
L umex. RN M60x2.0 M85x2.0 M100x2.0 M60x2.0 M85x2.0 M100x2.0
20 30 45 50 30 45 50
29 39 43 505 39 43 505
66 95 110 m 95 110 m
60 66 94 108 66 94 108
% Draw-nut BAREMSSERINI A, "U" A Draw nut xRN TR,
RELATED PRODUCT O @]
262p 256p 106p



	动力卡盘 24
	动力卡盘 25

